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image7.png
Which of these statements concerning
price elasticity of demand is correct?

The less necessary a product, the more
demand tends to be price inelastic

5 Products with strong brand loyalty tend to be
price inelastic

Products that are consumed as a matter of
habit tend to have a high price elasticity

Demand for products that have few
substitutes tends to be price inelastic
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A business reduces the price of a product from £10 to £7. As result,
demand increases from 10,000 units to 12,000 units. Based on this
information, what is the PED of this product?
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If a product has a price elasticity of -0.6, what will
happen to quantity demanded if price is increased by
15%7?

© Demand decreases by 13%

o Demand increases by 9%

o Demand decreases by 25%

o Demand decreases by 9%
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A business has a single product which it believes has a price
elasticity of demand of -1.6. If the business decides to increase the
selling price of the product by 5% the likely effect is:

o Demand increases by 8%

© Demand decreases by 8%

© Demand decreases by 1.6%

© Demand decreases by 5%
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Demand for which of these products is
generally considered to be price elastic?
o Apple iPhones
o Petrol & diesel
o Daily tabloid newspapers

o Cigarettes
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If a product has unitary price elasticity,
the value of PED is:

o1

©0.5
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o Zero
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Herr Cutt hairdressing salon is planning to increase the price of a
men’s trim from £8 to £10. They expect that weekly demand will
fall from 500 to 450 customers per week. What do they expect PED
to be?
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Business Y cuts the price of a product by 10%. As a
result demand increases from 1,750 to 2,000 units per
week. What is PED?
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If PED is -0.25 and the percentage change in demand
is -20%, what is the percentage change in price?
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Product B has a unitary price elasticity of demand. If
price increases by 10% what should happen to
revenues?

o Decrease by 10%
© Increase by 10%
o Decrease by 1%

o Stay the same




